45th Petrozavodsk Programming Camp, Summer 2023 @ ?
Day 7: Peking U Contest, Thursday, August 31, 2023

Moscow Workshops

Problem A. Simple Game

Input file: standard input
Output file: standard output
Time limit: 1 second

Memory limit: 256 mebibytes

Alice and Bob like playing games. Today they play on a special grid with 2 rows and n columns. Alice
and Bob each have a chess piece, starting at (1,1) and (2,n), respectively. They will take turns moving
their chess piece, with Alice going first.

In each turn, they can choose to stay still or move the chess piece to any point adjacent horizontally or
vertically which has not been visited by the other’s piece. The game will end after 100" turns.

Every point in this grid has a non-negative weight. For each player, the score that he/she gets is the sum
of the weights of all the points his/her chess piece has visited. The weight is counted only once, even if
the piece visited a point multiple times.

Both Alice and Bob want to maximize the score that they get. As a spectator, you want to know the
score that Alice gets if both of them play optimally.

Input

The first line contains an integer ¢, the number of test cases (1 <t < 5-10%). The test cases follow.
The first line of each test case contains a single integer n representing the size of the grid (1 < n < 10°).

The second line of each test case contains n integers aj 1,a12,...,a1,,. The i-th of them represents the
weight of point (1,1).

The third line of each test case contains n integers as1,a22,...,a2,. The i-th of them represents the
weight of point (2,1).

It is guaranteed that 0 < a;; < 10°, and the sum of n across all test cases will not exceed 2.5 - 10°.

Output
For each test case, print a line with a single integer: the score that Alice gets if both players play optimally.
Example
standard input standard output

4 5

2 6

1 15

21 25

3

114

514

4

194

1001

7

3141592

6535898
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